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Correct the following statements: (o b e =Y
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The teacher asks each student this questlon, and the student
replies using one of the answers given below:
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Fill in the blanks with suitable verbs in the ¢ )l2%:
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POINTS TO REMEMBER

In this lesson, we learn the following:

1) We have learnt in the previous lesson that the mudér? is mansdb after O and é‘}?

ke 231, The following four forms of the mudéri have u-ending in the marfil', and a-

ending in the mansdb:
_»dj ya-dhhab-u — Ca4 of an ya-dhhab-a
L4 ta-dhhab-u — a5 Of an ta-dhhab-a
L2 ‘a-dhhab-u — L2 Of an ‘a-dhhab-a
L34 na-dhhab-u — CaX O an na-dhhab-a
The forms of the mudari*ending in ndn drop the ndn after o\, e.g.:
hd ta-dhhabina - 85 Of an ta-dhhab-d
ujf.a.» ta-dhhab-tina — \j:JM.a of an ta-dhhab-a
u}’.a-b ya-dhhab-tina — \jia.u u\ an ya-dhhab-{
In these forms, the sign of the verb being marfii'is the presence of the ndn, and that of

being mansdb is the omission of this ndn.
Here are some more examples:
CaiaT " @Jm’ of e 136 ‘What do you want to drink, Aminah?’
S’}Q\ y\ L )i@-U ol u }i\a“ Jf ug\ ‘Where do you want to go, brothers?’
: J..aal\ o gt of d):\-‘j} ‘They want to go out of the class.’
The two forms U-Jb-b and U.J:-U remain unchanged after u\, &.0.
?i:‘}f " )Lr‘:!\ Lo O UJJJ}‘ ‘Do you want to listen to the news, sisters?”
R < u.«.L’u of S % ‘The female students want to sit in the garden.’

2) ShkelS s\ "My watch is like yours.” The word ¥ is a preposition, and the noun

following it is majrdr. It means ‘like.’
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Here are some more examples:
o - O 2 c/o /0/ 5 " ¥
. doewd S oot 1A “This house is like a mosque.

o - & -
s\ &74gdl) 04 ‘The coffee is like water.’

-

This preposition is not used with pronouns. So we do not say & Ulie. I am like him.” In

such case, the word J-a is added between the preposition and the pronoun:

42" 611 am like hin, g-uf 3 'He is like me.’
3) L@.L}f sLaN1 ol oaxb y of })\ 'I request you not to take all these things.’ ‘_}-—}5
‘all” is used fgr emphasis. In Arabic it is called fa’%id. The word J—:( is connected to
the muakkad (i.e. the word it emphasizes) with a pronoun:
: @.@l}fb‘)\b\ 2> All the students attended.’
: u.”@.i;SQLJ\.bJ‘ "2 7 Al the female students went out.’
. iljfu\_{d\ Q\; ‘I read the book completely.’

gA °

LS LWt @ &8 eI looked for him in the whole school’

Note that the word J}f is in the same case as the muakkad.
4) The vocative particle W Uf is 4, e.q: ':};) U !:}‘)\4 L
When U is used with a noun having J!, the word t@i‘ is inserted between Y and the noun
e.g.:
1,81 & 4 0 people! (not (st L)
!:}.;35\ L@.z\ LOman!
5) \-u L2 ‘Come along.” It is called Jadlt ;-o\ i.e. it is @ noun but has the force of a verb.
Here are some more examples of jadl ew!:

o1 I feel pain.

Y I am bored.

f;yT (in pause :;:3-47) accept (my prayer).
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6) 8dd (¢ s>l &de “This tin of sweets.’

We have seen in Book I that <231 14 means ‘this book’. But if we want to say “this book

of history’ we say lda C’ 431 GBS I this construction 'd—a comes at the end because we

i Y e

cannot say @)\J\ LS 1k as O here is mudéfand so it cannot take J.
Here are some more examples:
e ele (.-U ‘this pencil’.
o e}ﬁ‘ :\9;9 ‘this bedroom.’

o

oz odn Szl ‘This watch of yours is beautiful’.

-

!.Ua @\75 A ‘Take this book of mine’.
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